ru

0495 e

|L10] 7R

= 8Y/HMIZ olo|x]

o

ks

&, M ol

A 55 DIN EN 10305,
AHQIHA AE!1.4301.

EI2 E18 AR O} =3
ALCHE|Z LA ARl 2LEAL E3.

.

B2t &5 @el, Mz 2.

AL
ZFLFAR, AHRIBIA
AERT EE ME

rH

A A, 2 E3t0|E

A
)
=]
=

AMIME:
- 7t0|= K0496, K0497, K0498, K0499

CRH o AAY 2L RE

1}
L
Ral
]
il
|El
N
o
n
A
Y

L2 AEEF L2

A
\
I
1
I
Y

Pl

:
il

sy
=&
@ D1

2|L]o] A
K0495.18...

rm

75 75 || L1

|

= 29%

M

2lL|o] 7R

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
oL
2|L|0]
S2%
FEHS 1=K EfJE AEE L AEZ3 B D1 J L1 L2 M P1 VA
S ojns 7|
DIN 6885

K0495.300001X300 &ztolE Ho{& I8 30 Tr14x3 300 100 30 8h8 3826 100 28 2x2x20 M4x8
K0495.300001X500 &2told Ho{R s 30 Tr14x3 500 300 30 8h8 3826 100 28 2x2x20 M4x8
K0495.300001X800 &ztolE Ho{2 s 30 Tr14x3 800 600 30 8h8 3826 100 28 2x2x20 M4x8
K0495.400001X300 &2tolE Ho{al e 40  Tr20x4 300 91 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.400001X500 2ol Ho{Z A2 40  Tr20x4 500 291 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.400001X800 &ztolE Ho{Z e 40  Tr20x4 800 591 40 12h8 5538 1045 44 4x4x32 M6x10
K0495.400001X1000 &2tolE Ho{al 2 40  Tr20x4 1000 791 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.500001X500 220l Hofd US 50 Tr20x4 500 265 50 12h8 63 38 117,5 44 4x4x32 M6x10
K0495.500001X800 &ztolE Ho{Z e 50  Tr20x4 800 565 50 12h8 63 38 117,5 44 4x4x32 M6x10
K0495.500001X1000 &2tolE Ho{al e 50  Tr20x4 1000 765 50 12h8 63 38 117,5 44 4x4x32 M6x10
K0495.180101X300 = Ho{& JUZ 18  Tr10x2 300 145 18 6h9 2417 775 18 2x2x12 M3x5
K0495.180101X500 E Ho{3 /S 18  Tr10x2 500 345 18 6h9 2417 775 18 2x2x12 M3x5
K0495.300101X300 £ Ho{d US 30 Tr14x3 300 100 30 8h8 3826 100 28 2x2x20 M4x8
K0495.300101X500 = Ho{& JUZ 30 Tr14x3 500 300 30 8h8 3826 100 28 2x2x20 M4x8
K0495.300101X800 E Ho{ /S 30 Tr14x3 800 600 30 8h8 3826 100 28 2x2x20 M4x8
K0495.400101X300 £ o3 US 40  Tr20x4 300 91 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.400101X500 = Ho{& JUZ 40  Tr20x4 500 291 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.400101X800 E Ho{d /S 40  Tr20x4 800 591 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.400101X1000 £ Hiof& US 40  Tr20x4 1000 791 40 12h8 5538 104,5 44 4x4x32 M6x10
K0495.500101X500 = Ho{& JUZ 50 Tr20x4 500 265 50 12h8 63 38 1175 44 4x4x32 M6x10
K0495.500101X800 E Ho{d /S 50  Tr20x4 800 565 50 12h8 63 38 117,5 44 4x4x32 M6x10
K0495.500101X1000 £ o3 US 50  Tr20x4 1000 765 50 12h8 63 38 117,5 44 4x4x32 M6x10
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



